Two Spades -- Problem

Board 22 AKI1076
South Dedls © Q107
N-Svul O AQ6
o K72
A Q983
O KG6
¢ 105
% Q9864
West North East South
Pass
Pass 1l Pass 1Aa
Pass 26 All pass
2 & by South
Lead: ¢ 2

Join me as declarer for the first of several deals from the 2023 Gatlinburg regiona tournament. All the events
are A/X Pairs (top flight, matchpoint scoring).

West leadsthe ¢ 2. What is your plan? What can go wrong with it?
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Two Spades -- Solution

Board 22 AKI1076
South Dedls © Q107
N-Svul O AQ6
o K72
AA2 A J54
©J843 © A952
¢ J972 ¢ K843
% AJI10 %53
A Q983
O KG6
¢ 105
% Q9864
NS 24; NS IN; NS 2&; EW 19; EW 190; Par +110: NS 24=
West North East South
Pass
Pass 1l Pass 1Aa
Pass 26 All pass
2 & by South
Lead: ¢ 2

Our potential losersinclude two in each black suit and one in each red suit. In addition, we may need to ruff
two red cardsin hand. Not knowing how the cards lie, we are unlikely to produce the double dummy result and
make the contract. A sensible plan isto establish and enjoy the club suit, to take red-suit pitches.

Not seeing the danger, | called for agreedy ¢ Q from dummy, and paid a heavy price. East won the ¢ K and
returned the suit. When the opponents got in again, they forced me to ruff. With so much work to do, | was not
able to both establish and enjoy the clubs. | finished two in the glue, -200.

Leading from kingsis risky business, as most players in this event should know. Expecting the ¢ K to be off-
side, we should take out insurance against the force, playing low from dummy at trick one. If thislosesto the

¢ J, East will have to shift - and any shift can only help. When East winsthe ¢ K and returns the suit, we have a
trick and atempo. Thisaone should prevent the dreaded -200.



Pass or Open? -- Problem

Board 7
East Deals
Both Vul
A Q10643
© J54
¢ 3
% AK109
West North East South
Pass ?

What's your call?



Pass or Open? -- Solution

Board 7 A AIJS
East Deals QAT76
Both Vul ¢ 952
*QJ76
A9?2 AKS87
© Q982 © K103
O KQJ87 O A1064
%54 %832
A Q10643
© J54
¢ 3
% AK109
NS 3A; EW 30; NS 3%; EW 19; Par +140: NS 34=
West North East South
Pass ?

What's your call?
Thishand isaBergen 19: 10 HCP + 5 spades + 4 clubs. We need 20 to open. Seems like an obvious pass.

Not so fast! When in any doubt, add a point for a spade suit, especially in second seat. That gives us aBergen
20, and none of the HCP are degraded by being in diamonds.

Why especially in second seat do we count a point for a spade suit? Because, if we pass, fourth-seat partner will
apply Pearson's rule of 15; on thisdeal, with 15 Pearson points (12 HCP + 3 spades), less one for 4-3-3-3 shape,
partner is likely to pass the deal out.



Hearts! -- Problem

Board 6
South Dedls
N-SVul
AJ107
© AQJ109765
¢ 10
*5
West North East South

What's your call?



Hearts! -- Solution

Board 6 A K954
East Dedls 0 84
E-W vul OAT3
% QJ87
A 8632 AJ107
QO — © AQJ109765
O KQJ954 ¢ 10
% K94 *5
AAQ
QK32
¢ 862
% A10632
NS 3&; NS1IN; EW 19; S 19; Par +110: NS 2¢%+1
West North East South
?

Our hand contains seven tricks. Yes, if we can get to dummy and finesse one or more times, we make an eighth
when we find the © K onside. This hand counts as seven tricks.

We should use the rule of 2-3-4 to resolve such issues. At equal vulnerability, that would mean down 3 in hand:
open 4 ©. With this suit quality, this bid is fine, whether both or neither sideisvulnerable. Thefitishorrible,
and the contract should be down three, undoubled. If partner had onetrick for us, we would be down two -- a
good deal if the opponents double, but have a game.

However, the vulnerability hereis unfavorable. With our gilt-edged seven tricks, thisisa 3 © opening. South
cannot act, but if North decides to reopen with a double, South will probably bid 3 NT -- atop for us after the
lead of the ¢ K. If North passes 3 ©, we still save 100 points.

Won't we miss some games, opening such hands at the 3-level? Not that likely -- partner can count too, and
should raise with three likely winners.



Both Minors -- Problem

Board 1
West Deals
None Vul
AAS8
Q7
O AQ1l084
% KQJI93
West North East South
Pass 10 Pass 29
Pass 29 Pass 3%
Pass 3NT Pass ?

Join me for this auction - what would you do now?



Both Minors -- Solution

Board 1
West Dedls
None Vul

A K54
©A986
¢ K9

% 10852

West
Pass
Pass
Pass
Pass
All pass

A Q107
QO KQ5432
o J7
o A7
A J9632
© J10
¢ 6532
% 64
AAS
Q7
¢ AQ1084
s KQJ93
North East South
190 Pass 20
29 Pass 3%
3NT Pass 4ee
49 Pass 4ANT

Bid 4 &, unconditionally forcing. Removing 3 NT isaslam try, or perhaps insisting upon playing at least game

in asuit.

When partner gives preference to diamonds, we return to notrump. This makesit clear that we have at least 5-5
in the minors, a spade control (going back to notrump), and slam interest. Our values are enough that 4 NT
should be a safe contract, and indeed, my partner made exactly 4 NT. However, if partner held aslittle as

AK74 QA5432 OK73 &107

6 ¢ would be agood contract, and partner should know it.



Guilty As Charged -- Problem

Board 2
North Deals
E-W vul
A K8
O A83
¢ 103
S+ KO97643
West North East South
1l Pass 2%l
Pass 3% Pass ?

1. Invitational or better.

Join me for thisdea. What would you do now?



Guilty As Charged -- Solution

Board 2 A J1062
North Deals QKQ9
E-W Vul O 2
% AJ1052
AT754 AAQI93
Q765 ©J1042
¢ KQ9854 O AJT76
% 8 *Q
A KS
© A83
¢ 103
*K97643
NS 5¢&; EW 20; NS 19; Par +400: NS 5=
West North East South
1 Pass 2%l
Pass 3 Pass ?

1. Invitational or better.

Y ou should know that | am a scientific bidder; | believe in bidding accuracy, and not depending on keeping the
opening leader in the dark. However, | tried 3 NT and went down four, -400.

North has the shape, but not the strength, for a 3 ¢ splinter at the second turn; 3 & was impeccable.

The correct bid on our hand is 3 ©, denying a diamond stopper and showing a heart stopper. Thislack of
diamond strength may encourage opener to leap to 5 s, +400; or to bid a pessimistic 4 &, +150.



Six Notrump -- Problem

Board 27 AAK542
West Deals 0 864
None Vul OAT2
& 102
A 108
QAQ7
¢ KQJI10
*AKQ9
West North East South
Pass 1Aa Pass 20
Pass 26 Pass 6NT
All pass
6 NT by South
Lead: © 8

On the opening lead of the ¢ 8, East discards aheart. We have ten top tricks.
Plan the play at 6 NT. Be specific.

How would you play, if the contract were 7 NT?



Six Notrump -- Solution

Board 27 AAK542
West Deals 0 864
None Vul OAT2
& 102
A 96 AQJ73
092 © KJ1053
¢ 986543 o —
% J43 #8765
A 108
QAQ7
¢ KQJI10
*AKQ9
West North East South
Pass 1Aa Pass 20
Pass 26 Pass 6NT
All pass
6 NT by South
Lead: © 8

7 NT. We cannot duck a spade, so we start by running diamonds to apply pressure to East, who we need to
guard all three of the side suits. On the fourth diamond, we discard a heart from dummy. East can afford a
second heart and a spade, but now must discard a club. We counter by cashing the top clubs, expecting that
East no longer can stop the suit; the & J appears from West on the third round, as dummy discards another heart.
We play the & 9, discarding a spade from dummy.

Our minors are gone, but our original five mgor suit cards are intact. Dummy has & A-K-5-4 and © 8; East
must discard from & Q-J-7 and © K-J-10. Aswe can see, Wast cannot help in either major (if they could, East
would have to figure that out, and discard in that suit).

We cross to dummy and cash the second spade. If spades are good, we discard two hearts and take the© A for
13 tricks. If East retained a spade, we take the heart finesse and the© 7 becomes our thirteenth trick. It's
important to defer this finesse to the end, as we need an entry in the suit.

6 NT. At matchpoints, overtricks are important. We could play for 7 NT, or we could start out that way. After
cashing diamonds or both minors, we could lead the & 10, hoping to duck it to East. If West covers, we'll have
to continue asfor 7 NT. Of course, with four club tricks, all we need is the heart finesse.

The alternative is to win the diamond in hand, lead the & 8, and duck in dummy (covered or not). If spades
break 3-3 (a 36% chance), we are home. However, if spades do not break, we have trouble. The return of a
spade (high from East) will break up any possible squeeze, reducing us to the heart finesse and guessing the
clubs. Thereturn of aheart by East will force usto guess prematurely whether to finesse. Thisiskind of
revolting. A clueless East may play a"safe" club -- not the way to bet -- in which case, we run the same squeeze
-- always making, if spades were splitting all along.

Another look: we duck the & 8 to East, who does not see to return the other spade honor, but returns a heart.
Still with only ten tricks, but two losers, we rise with the ace and run a similar repeating squeeze. On the
remaining three diamonds, East discards two hearts, but then must part with aclub. We cash the clubs, and on
the fourth, East must discard from & Q-J-7 and © K. If we don't seethe © K, we try to run the spades. The
advantage of thisline: we avoid the heart finesse, if the spades are breaking. However, it's better not to give an
astute East the chance to kill the squeeze. The 7 NT line appears better, especially at matchpoints.



